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1[5 (H23.6.2) 1,98644 99T AT 4 #851[3 (H26.9.11) 25894 -16| 81THHETH —2|[&101E (H30.11.12) 1,750% +1]  63mHAT# 0
&2 (H23.6.16) 2,165% +179| 101HHETH =+ 2||8852@ (H26.10.16) 2,588% -1 80T BT 4 —1|/§102[E (H30.12.11) 1,542% -208 63T BT 4 0
36 (H23.6.30) 2,308% +143| 104THETH + 3||# 53 (H26.11.13) 25874 -1 80th BT 4 —+0||# 103 (H81.1.10) 15344 -8|  62THHETH -1
4 (H23.7.14) 2,40944 +101| 104THET#] 4 0[|% 54 (H26.12.11) 2575% -12|  82mHHET# =+ 2||% 104 (H31.2.7) 1,534% 0| 62ThHHET# 0
550 (H23.7.28) 2,550% +141| 105THHETH -+ 1||%55[E] (H27.1.15) 2571% -4 82th BT 4 +0|§105[m(H31.3.11) 15274 =7 63th BT 47 1
F6E (H23.8.11) 3,0904 +540| 105Th ET 49 4 0||%56[E (H27.2.12) 2,563% -8 82mHHT# =+ 0[% 106 (H31.4.9) 1,509% -18|  63thHET#] 0
$£7[81(H23.8.25) 3,220% +130| 105THHETH —+ 0|/ 5578 (H27.3.12) 2,555% -8 82th BT 4 +0
58] (H23.9.8) 3,159%4 -61| 102 ETH —3| ¥ 58E (H27.4.14) 25374 -18 80T T4 -2
$£9[81 (H23.9.22) 3,075% -84| 100TI AT # —2||8559[B (H27.5.14) 2,546% +9 80T BT +0
£10M] (H23.10.8) 3,0474 -28 98 BT —2( %60 (H27.6.11) 2524% -22 78h BT 4 -2
$511[81(H23.10.20) 3,049% +2| 100 AT # —+ 2|/ %6181 (H27.7.16) 2,495% -29 78T AT +0
%128 (H23.11.2) 3,0374 -12|  99HHTH —1]|5862[E] (H27.8.13) 2,302% -193 78 ET +0
$E13[E1(H23.11.17) 3,030% =7 99T AT —+ 0|/ 5638 (H27.9.10) 2,291% -11 78T AT +0
14 (H23.12.1) 30114 -19| 100 HT# =+ 1| 8864 (H27.10.8) 22874 -4  78HHETH +0
15[ (H23.12.15) 3,023% +12| 100 HETH 0| $565E (H27.11.12) 2,135% -152| 78ThHHET#] +0
168 (H24.1.12) 30174 -6 100THT# —+0||566[E (H27.12.10) 2,138% +3 80th BT 4 +2
8170 (H24.1.26) 3,048% +31| 101THHETH + 1]|/§&67/@ (H28.1.14) 2,135% -3 80TH AT +0
£18[E (H24.2.9) 3,025% -23| 102t BT 4 + 1[5 68[El (H28.2.12) 2,125% -10]  8OTHHET# +0
198 (H24.2.23) 30574 +32| 102 HETH =+ 0/ 69/ (H28.3.10) 21214 -4|  80THHET#] +0
£20[E (H24.3.8) 3,075% +18] 102tHET# =+ 0(/%70[El (H28.4.14) 2,086% -35| 8OThHHT# +0
£21[A (H24.3.22) 3,063% =12 102 HETH +0||/§&71m (H28.5.16) 2,082% -4 79t BT # —1
E22[E (H24.4.3) 3,003% -60] 100ThAT# —2|[g72[E (H28.6.10) 2,055% -27|  78THHET#] —1
#2361 (H23.5.8) 3,032% +29| 1007 ET# =+ 0| #8735 (H28.7.14) 2,041% -14|  78THHETH +0
E24[E (H24.6.7) 3,057% +25| 98mmTH —2||&74E (H28.8.10) 2,039% -2|  78THHET#] +0
#25[H (H23.7.5) 2,996% —61 97 BT # —1( 8875 (H28.9.12) 2,028% -11 EGHES +0
E26[E] (H24.8.2) 3,0024 +6| 95mHTH -2||%76E (H28.10.13) 1,982% -46 78 ET 1 +0
27 (H24.9.6) 30114 +9|  94hHHETH —1/[$77E (H28.11.10) 1,976% -6| 78ThHHET# +0
285 (H24.10.4) 2,955%4 -16| 93HHTH —1]|578[E (H28.12.9) 1,973% -3 78 ET 1 +0
29[ (H24.11.1) 2,985% -10 95T HT 4 + 2| $579E(H29.1.16) 1,9674 -6 78 HT # +0
Z30[E (H24.12.6) 29814 -4  94THHETH —1/[g80[E (H29.2.13) 1,95344 -14|  77HHHETH -1
&31[ (H25.1.17) 2,966% -15 91T HET# +0|/§81[E(H29.3.13) 1,9474 -6 76T BT # -1
E32[E (H25.2.7) 2,9394 =27  91THHET# + 0| gE82[E (H29.4.13) 1,925% -22| 76THHETH +0
33 (H25.3.7) 29474 +8 91T ET# +0||%83[E (H29.5.16) 1,915%& -10 75T BT # -1
346 (H25.4.4) 28974 =50 92mHT# + 1| 8&84[El (H29.6.16) 1,8924 -23|  74THHETH -1
%35 (H25.5.9) 2,861%& -36] 91ThHETH —1(%885[E (H29.7.14) 1,881% -11 NHES 0
& 36[E] (H25.6.6) 2,8394 -22|  90THHTH —1||586[E (H29.8.17 ) 1,879% -2 73T AT -1
370 (H25.7.4) 28174 -22 90T BT # +0|#87[E (H29.9.14 ) 1,873%& -6 72tH BT -1
#38[H (H25.8.1) 2,813% -4 90T HTH +0||#88[E (H29.10.12 ) 1,850% -23 T2 ET# 0
39 (H25.9.12) 2,79844 -15 89T HT 4 —1|[889[E (H29.11.13 ) 1,846% -4 72 BT # 0
#40[E (H25.10.10) 2,7187% -11] 90T AT 4 + 1][#& 90 (H29.12.12 ) 1,83844 -8|  72thHHT# 0
8410 (H25.11.7) 2,774% -13 89T BT # —1(% 91 (H30.1.16 ) 1,819% -19 72tH BT 0
$842[E] (H25.12.5) 2,728% 46 89THATH ~+0[ & 92[E (H30.2.13 ) 1,818% -1[  727HETH 0
5438 (H26.1.16) 2,725% -3 89T HT 4 0]/ 5893E (H30.3.15 ) 1,8124 -6 72 BT # 0
#44[5] (H26.2.6) 2,719% —6 89T AT =+ 0| 89451 (H30.4.12 ) 1,7974 -15 71T -1
5450 (H26.3.6) 2,6954 -24| 89HHTH 0|/ 5895[E (H30.5.17 ) 1,785% -12 68 BT -3
354621 (H26.4.10) 2,6574 -38] 87THATH —2|/%£96[E (H30.6.14 ) 1,755% -30] 65THHETH -3
5470 (H26.5.15) 2,636% =21 85T HT —2|[#897[E (H30.7.12 ) 1,75044 -5 63 BT+ -2
354821 (H26.6.12) 2,6274 -9  83thHTH —2|/%£98[= (H30.8.13 ) 1,749% -1[  63hHETH 0
$549[E] (H26.7.10) 2,616% -11 83 BT+ —+0||#£99[E (H30.9.11 ) 1,749% 0 63h BT 4 0
¥E50[E] (H26.8.14) 2,605% -11 83T AT =+ 0| #100[E (H30.10.11 ) 1,7494 0 63T AT 0




